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1)Sterile and clean wounds are:

Surgical wound

2)collagen and elastin different in :

have similar amino acid sequence.

B)From Contents of carbal tunnel :

A. radial nerve

B. Median nerve

C. ulnar nerve

Answer : B
4)Wrong about hair :
A. hard keratin
b. Soft keratin
c. from dead keratinised cells
D. all of the following
Answer : B

5)all true about MTX except:

Given in pregnancy





acrocephaly
6)cause of Acromegaly:

A. Early closure of sagittal suture
B. Early closure of coronal suture
C. Early closure of lamboid suture

Answer : B
7)Amelia:
A. absent lower limb
b. Absent upper limb
C. fussion fingers
Answer : A
8)True about sternocleidomastoid :
One muscle move .. ipsilateral side
9)Not a content of digasteric triangle:
Thyroid gland
10) Innervation of posterior belly of the digastric :
A. Facial nerve

b. Inguinal nerve

Answer : A



acrocephaly
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11)Posterior relation to sclaneus anterior:
Transverse cervical vessels Spinal accessory nerve
B8)Knee joint true:

Tibial collateral ligament blends within the capsule and related to medial
meniscu

@8IOne is within the knee capsule :
Tendon of popletius

14)All of the structures related to the temporal bone except :
A. Tympanic bone
B. styloid process
c. Coronoid process
D. zygomatic process
Answer : C

BBJAnkle joint movements:

Dorsiflexion /plantarflexion

BBIViedial rotation for shoulder joint :

Teres major











خطأ السؤال


17)All of the following are contents of digastric except:
A. Thyroid gland

b. lingual nerve

c. facial artery

Answer : A

B8)False about illiofemoral joint:
A. Strongest ligament
B. Prevent over extension and medial rotation

Answer : B

19)What the most characteristic about stratum granulosum:

Keratohyaline granules

BBJRotator cuff muscle:

A. Deltoid

B. Infraspinatus

C. trapezios

Answer : B

21)All of these characteristics similar in both elastin and collagen fibers
except :

Basic amino acid







pemphigus foliaceus
22)False about pimphegus fasiculae:

Mucus

23)Elastic :

Unlike collagen , denaturation of it is reverse

24)All of these viruses infection cause vesicles except :
A. HSV-1

B. HSV-2

C. Rubella

D. Herpes zoster

Answer : C

25)35 years old woman with multiple fractures and administrated to the
ICU, the doctors went and gave her a muscle relaxer to facilitate the
tracheal incubation, she suffered from cardiac arrest and the doctors
made cardiac resuscitation and had been done successfully. Which drug
caused this arrest :

Succinylcholine

26)Acrocephaly?

high skull due to early closure of the coronal suture



pemphigus foliaceus


27)Large pump has been identified for 5-7 days, painful, multiple
discharging sinus , healed with a scar:

Carbuncle

28)HSV type 2 is characterized by :

Ulcers on genital organs

29)Which tendon attaches to mandibular lingula :

Sphenomandibular

30)Function of atlantooccipitial ?

Flexion and extension

BlOne of the following is true regarding wrist joint :

Flexion and extension and pronation and supination

32)All of the following are harmful effect of sun except :

Kill germs
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33)Which of the following drug isn’t used for the treatment of acne :

Neomycin

34)insufficiency of a vital element:

Drowning

35)includesinjuries due to legal intervention:

Intentional injuries

36)Body response to cold exposure :

vasoconstriction

37)Boy has been diagnosed with viral infection in the stomach, the
doctor prescribed anti-inflammatory and anti-pyretic drug

The boy developed serious symptoms like brain hydrocephalus and liver
disease and heart disease plus kidney disease, the boy died 5 days later.

Which drug was given to the boy:

Aspirin

38)4 year old boy suffering for muscle weakness and his brother was
wheelchaired at the age of 12

Which of the following is unrelated to the disease :
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Absence of dystrophin protein

39)65yrs old alcoholic woman was administered to the ER by her husband
with hearing loss and bradycardia and hyperglycemia and hypertension
with creatinine elevation and hypercalicemia, her husband said she took a
drug for an attempting to a suicide.

Which drug has been taken :

Aspirin

40) 1st part of maxillary artery ....... lateral pterigoid muscle:
A. Below
B. Above
C. Between two part
D. posterior
E. Superficial
Answer:D

41)Deficiency in one of these enzyme causes myopathy... not related to
ATP and inheritance :

A. PFK
B. Phosphorylase
C. Carntine palmitoyl transferase
D. CPTII
Answer: D
42)All the following drugs using for acne EXCEPT :
A. Keratolytic
B. benzoyl peroxide

C. isotretinoin



D. clindamycin
E. neomycin
Answer: E
43)All of the following Causes are of Localized Hyperhidrosis EXCEPT :
A. ldiopathic / Primary
B. Social anxiety disorder
C. Stump hyperhidrosis after amputation
D. Gustatory sweating
E. evaporation
Answer:E
44) All following about methotrexate MTX are true EXCEPT ? Select one :
A.Can be given to pregnant women
B. used alone or in combination therapy
C. nhibits purine synthesis
D. Response to MTX occurs sooner than with other agents
E. Doses in rheumatoid arthritis is low

Answer: A
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